
B

A

49122 www.tvilum.com  Rev. A   16-10-2023



3-4 hr X2
  

READING GUIDE - 2A
VERSION 3
25-08-2022

49122-502 / 28



15x14x10 mm
0.59x0.55x0.39"

x120110401

Ø5x30 mm
Ø0.2x1.18"

x360120203

Ø6,3x40 mm
Ø0.25x1.57"

x80120228

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x8

Ø0.16x0.59"
Ø4x15 mm

0125503 x20

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x8

Ø0.59x0.37"
Ø15x9,5 mm

0131687 x32

Ø0.30x1.73/1.34"
Ø7,5x44/34 mm

0131513 x24

66x58x10 mm
Ø2.6x2.28x0.39"

x50165865

M4x0.35"
M4x9 mm

0126214 x4

Ø0.87x0.02"
Ø22x0,5 mm

0110901 x1

Ø7x82 mm
Ø0.28x3.27"

0131410 x4

1.22x3.98x0.59x0.05"
31x101x15x1,3 mm

0113451 x2

0.67x12.20/12.20"
17x310/310 mm

0141440 x4
Ø4x13 mm

Ø0.16x0.51"

x40125440

Ø14x25 mm
Ø0.55x0.98"

x20181051

M4x0.98"
M4x25 mm

0126234 x2

491223 / 28



470x474,5x15mm

LF

FA

09725

UB

G(1) UB

G(2)

09725

UB

HA

IF

65861

65861
65861

06079 x2

03326 x2
00753 x2

00754 x2 EA x2

x2

 x3  x2

491224 / 28



470x474,5x15mm
1172x391x15mm

LF

1172x391x15mm

IF

339x390x15mm

FA

339x390x15mm

HA

370x389x15mm

UB x3

204x379x2,5mm

09725 x2

348x342x2,5mm

06079 x2

345x140x12,2mm

00754 x2

345x140x12,2mm

00753 x2

337x140x12,2mm

03326 x2

200x35x25mm

65861 x5

366x189x15mm

EA x2

371x390x15mm

G x2

 x3  x2

491225 / 28

BOX 1/1



Ø0.23x0.35"
Ø5,8x9 mm

0126020 x4

Ø3,5x15 mm
Ø0.14x0.59"

x40125233 *

0125233

*

3

0126020

1

0125233

*

4

0126020

2

0141440

17x310/310 mm
0.67x12.20/12.20"

x2

FA

1

HA

491226 / 28

1



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

Ø5x30 mm
Ø0.2x1.18"

x80120203

FA

FA

HA

HA

491227 / 28

2

3



Ø0.23x0.35"
Ø5,8x9 mm

0126020 x4

Ø3,5x15 mm
Ø0.14x0.59"

x40125233 *0141440

17x310/310 mm
0.67x12.20/12.20"

x2

0125233

*

3

0126020

1

0125233

*

4

0126020

2

G(1)

G(2)

1

491228 / 28

4



Ø5x30 mm
Ø0.2x1.18"

x80120203

G(1)

G(2)

491229 / 28

5



Ø5x30 mm
Ø0.2x1.18"

x120120203

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x160131513

LF

IF

UB x3

4912210 / 28

6

7



1 2 3

Ø0.28x3.27"
Ø7x82 mm

0131410 x2

Ø15x9,5 mm
Ø0.59x0.37"

x40131687

Ø0.28x3.27"
Ø7x82 mm

0131410 x2

Ø15x9,5 mm
Ø0.59x0.37"

x40131687

UB

UB

G(2)

G(1)UB

UB

4912211 / 28

8

9



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

Ø15x9,5 mm
Ø0.59x0.37"

x80131687

HA

FA

LF

4912212 / 28

10

11



Ø15x9,5 mm
Ø0.59x0.37"

x80131687

09725

09725

IF

4912213 / 28

12

13



Ø0.16x0.59"
Ø4x15 mm

0125503 x20

Ø2.6x2.28x0.39"
66x58x10 mm

0165865 x5

Ø0.87x0.02"
Ø22x0,5 mm

x100110901

 166mm 6.5"

4912214 / 28

14



1 2

15x14x10 mm
0.59x0.55x0.39"

x120110401

/2816

 YY 

 XX 

XX = YY

65861
65861

65861

4912215 / 28

15

16



X2

  

1

3

  

2

25-08-2022 JTJA:
WARNING - LIFT FURNITURE WITH CARE

16 / 28 49122



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/2

17 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/2

18 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/3

19 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/3

20 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 3/3

21 / 28



/2823

Ø4x13 mm
Ø0.16x0.51"

x40125440

1.22x3.98x0.59x0.05"
31x101x15x1,3 mm

0113451 x2

4912222 / 28

17



 ?

80%

1 2

3 4

5

7 8

6

?

?

100%

20-09-2023 MMOS:
13451 tipover restraint guide
VERSION 1

Assembly guide.

23 / 28 49122



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

Ø5x30 mm
Ø0.2x1.18"

x80120203

EA x2

00753 x2

00754 x2

4912224 / 28

18

19



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

00754
00753

EA

x2

x2

06079

4912225 / 28

20

21



Ø6,3x40 mm
Ø0.25x1.57"

x80120228

M4x0.98"
M4x25 mm

0126234 x2

Ø14x25 mm
Ø0.55x0.98"

x20181051

x2

03326

x2

4912226 / 28

22

23



3

21

M4x0.35"
M4x9 mm

0126214 x4

EA

EA

4912227 / 28

24



MAX

lbs

kg

XX
XX kg

lbs
XX
XX

lbs

kg

58
26

lbs

kg

22
10

lbs

kg

13
6

28 / 28 49122© TVILUM A/S 2018


